

Topic: - centre of a group (Group theory)

Central element in a group

Definition: - The set  $Z(G)$  of all elements  $x$  of  $G$  such that  $xg = gx$  for all  $g \in G$  is called the centre of  $G$ . Symbolically

$$Z(G) = \{ x \in G : xg = gx \text{ for all } g \in G \}$$

Theorem: - The centre  $Z(G)$  of a group  $G$  is a normal subgroup of  $G$ .

Proof: - we have  $Z(G) = \{ x \in G : xg = gx \text{ for all } g \in G \}$

First we shall prove that  $Z(G)$  is a subgroup of  $G$

For this we shall show that

$$x_1, x_2 \in Z(G) \Rightarrow x_1 x_2^{-1} \in Z(G)$$

So let  $x_1, x_2 \in Z(G)$  then

$$x_1 g = g x_1 \text{ and } x_2 g = g x_2 \text{ for all } g \in G.$$

$$\text{we have } x_2 g = g x_2 \text{ for all } g \in G$$

$$\Rightarrow x_2^{-1} \{ x_2 g \} x_2^{-1} = x_2^{-1} \{ g x_2 \} x_2^{-1}$$

$$\Rightarrow (x_2^{-1} x_2) g x_2^{-1} = x_2^{-1} g (x_2 x_2^{-1})$$

$$\Rightarrow g x_2^{-1} = x_2^{-1} g \text{ for all } g \in G$$

$$\Rightarrow x_2^{-1} z(G)$$

$$\text{Now } (g x_2^{-1}) g = x_2^{-1} (g x_2^{-1} g) = x_2^{-1} (g x_2^{-1} g) \text{ , by definition}$$

$$= (x_2^{-1} g) x_2^{-1} = (g x_2^{-1}) x_2^{-1} = g (x_2^{-1} x_2^{-1})$$

$$\therefore x_2^{-1} x_2^{-1} \in Z(G)$$

$$\text{Thus } x_1, x_2 \in Z(G) \Rightarrow x_1 x_2^{-1} \in Z(G)$$

Hence  $Z(G)$  is subgroup of  $G$ .

Now we shall have to prove that  $Z(G)$  is a normal subgroup of  $G$ .

Let  $x \in Z(G)$  and  $g \in G$  we shall need to prove that  $g x g^{-1} \in Z(G)$   
we have  $g x g^{-1} = (g x) g^{-1}$   
 $= (x g) g^{-1} \therefore g x = x g$

Thus  $g \in G, x \in Z(G) \Rightarrow g x g^{-1} \in Z(G)$   
 $Z(G)$  is normal subgroup of  $G$ .

Theorem: - If  $Z(G)$  be the centre

of group  $G$  and  $G/Z(G)$  be cyclic

prove that  $G$  must be abelian.

Solution: - It is given that  $G/Z$  is

cyclic. Let  $z \cdot g$  be a generator of

the cyclic group  $G/Z$  where  $g$  is

some element of  $G$



Let  $a, b \in G$  then to prove that  $ab = ba$ . Since  $a \in G$  therefore  $\langle a \rangle \in G/2$  but  $G/2$  is cyclic having  $z_g$  as generator. Therefore there exists some integer  $m$  such that  $z_a = (z_g)^m = z_g^m$  because  $Z$  is normal subgroup of  $G$ .

Now  $a \in \langle a \rangle$  therefore  $z_a = z_g^m$   
 $\Rightarrow a z_g^m \Rightarrow a = z_1 g^m$  for some  $z_1 \in Z$

Similarly  $b = z_2 g^n$  where  $z_2 \in Z$  and  $n$  is some integer

$$\begin{aligned} \text{Now } ab &= (z_1 g^m)(z_2 g^n) = z_1 g^m z_2 g^n \\ &= z_1 z_2 g^m g^n \quad (\because z_1 \in Z \Rightarrow z_1 g^m = g^m z_1) \\ \text{Again } ba &= z_2 g^n z_1 g^m = z_2 z_1 g^n g^m \\ &= z_2 z_1 g^{m+n} \end{aligned}$$

$$\therefore ba = z_1 z_2 g^{m+n} \quad [\because z_1 \in Z \Rightarrow z_1 z_2 = z_2 z_1]$$

$$\therefore ab = ba$$

Since  $a, b \in G$  &  $ab = ba$   
 Therefore  $G$  is abelian